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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 2D = -90 x 4H -1 50 4
2 it [£3] 4H = 620 [£3] 4H = 620
3 panyiie] [£3] 4S -1 -50 [£3] 4S -1 -50
4 |wa| m | 2s | +1 | 140 | 4t [aNTx| 2 | 500 | 8
5 |gbl m | as | 2 | 200 & | 3s | = | 140 8
6 panyiic] x 5C +1 -620 x 5C +1 -620
7 PE=] [ri] 7CX -3 800 1t 6DxXx -1 -400 15
8 TS 1t 3NT +2 460 [£3] 3NT +2 460
9 panyiie] 1t 3NT -1 -50 1t 3NT -1 -50
10 | \WHB 1t 5Cx -5 -1400 [£3] 4H -1 -100 16
11 | W [£3] 6C -2 -100 1t INT +2 150 6
12 |ggdtl & | aH | = | 420 7 | aH | = | -420
DATUMiT T
RES 3l Y. X+ 23 | 34
MIPR/RZZ  -11 BRAER /I ERE -7 ait 23 34
EE/RE 7 PR B /IKFBEE 11 V.P. 6.55 | 13.45
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1 TS x 3NT -3 150 1t INTX -3 -500 12
2 it [£3] 4H = 620 x 3D -1 50 11
3 panyiie] [£3] 3S = 140 1t 4S -1 -50 5
4 E=] 1t INTX -2 -500 1t INT -2 -200 7
5 |gdel & | anT | +2 | 120 | & | onT | = | 120
6 panyiie] x 6C = -1370 [ri] 3NT = -600 13
7 WE=] x 6HX -1 200 1t 5S = 650 10
8 TS 1t 3NT +3 490 1t 3NT +2 460 1
9 panyiie] 1t 3NT -1 -50 1t 3NT = 400 10
10 | WHB [£3] 3D = 110 [£3] 3H -1 -100 5
11 | W 1t 5C -1 -50 [£3] 5C = 400 10
12 |ggdtl & | 4H | = | 420 #® | aH | = | -a20
DATUMiT T
I MLTHR I'&F8 7, 5+ 34 | s0
RSB/ XU 2 oMl =/ LN RE 13 Aait 34 | 50
SER/SEL -13 2mZ/EEE -2 V.P. 53 | 14.7
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1 TS x 2NT -3 150 x 2D +1 -110 6

2 it [£3] 4H = 620 1t 4H = 620

3 panyiie] [£3] 4S -1 -50 [£3] 4S -1 -50

4 PE=] 1t INTX -2 -500 1t INT -1 -100 9

5 it [£3] INT = 90 1t 1S +1 110 1

6 panyiic] [ri] 3NT = -600 x 3NT = -600

7 PE=] x 6HX = -1660 1t 4S +1 650 20

8 TS 1t 3NT +1 430 1t 6D -1 -50 10

9 panyiie] 1t 3NT -1 -50 1t 3NT -1 -50

10 | \WHB [£3] 3H = 140 [£3] 4H -3 -300 10

11 | X [£3] 3NT +2 460 [£3] 3NT = 400 2

12 | Edb [ri] 4H = -420 x 2H +3 -200 6

DATUMiT T
EMER BRigki Y. X+ 28 | 36
DER/ESE 2 SEXRARMT 14 | @i | 2= |
{(B{EBR/EPLTEE -14 ZH/EE 2 V.P. 7.39 | 12.61
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1 |wkEl &= | 20 | +2 |10 &= | 4 | 1 | s0 4
2 |mdtl B8 | a0 | = | 620 | 4t | 4H | = | 620
3 || m | as | 2| 50| & | 4s | -1 | 50
4 |wal 46 | anT | 2 | 200 46 | INT | -2 | 200
5 |gdt] & | anT | +2 | 120 | & | inT | +2 | 150 1
6 |mm| 7| | aNT | = | 600 | # | aNT | +1 | 630 | 1
7 |wal & | eHx | -1 | 200 | 4 | ssx | = | 850 12
8 |wxk| 4t | anT | +2 | 460 | 4t | aNT | +2 | 460
o |mm| 4t [3anT | 2| 50 | 4t | 4s | 2 | -100] 2
10 |ws|l & | 4 | 2 | 200 B | 31 | 2 | 200
11 |wxEl 4t [ anT | = | 400 | B | aNT | -2 | 50 | 10
12 |mt|l &5 | 4s | 2 | 200 7 | a0 | = | 420]| 6
DATUM&iit iFE
R e BRI v 3+ ] 19 | 17
RS SS=TA CIRVAG: 22 | Ot/ERE 14 &it 19 17
HHE=/XIS 14 AIEERATES 22 V.P. 10.71 | 9.29
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1 TS [ri] 2H = -110 [ri] 3D = -110
2 it [£3] 4H = 620 [£3] 4H = 620
3 panyiie] [£3] 4S -1 -50 [£3] 4S -1 -50
4 WE=] 1t INT -2 -200 1t INTX -2 -500 7
5 |gdt] &8 | anT | +2 | 150 | & | anT | +2 | 150
6 panyiie] x 3C +3 -170 [ri] 3NT = -600 10
7 E=] 1t 6SXx -1 -200 [ri] 6C = -1370 15
8 TS 1t 3NT +2 460 1t 3NT +1 430 1
9 panyiie] 1t 3NT -1 -50 1t 3NT -1 -50
10 | \WHB [ri] 2S = -110 [ri] 3S -2 200 7
11 | W [£3] 3NT +1 430 [£3] 3NT +1 430
12 [gde] @ | aH | = | 420 | & | an | = | -420

DATUMiT T
R IRz Y. X+ 33 7

itk /ZE R 5 18 ZRIE/5KTFH -4 ait 33 7
R2rhfe/R= 4 MTFRE/ X BF -18 V.P. 16.73 | 3.27




